_Berechnung der inversen Matrix im Spezialfall einer 2x2-Matrix (!)
| Ausniitzen fritherer Uberlegungen (vgl. Proseminar)

> restart,

all a22 —al2 a2l

> detd == all - a22 - al2 - a2l;
Auxl == a22 - bl - al2 - b2;
Aux2 == all - b2 - a2l - bl;

Auxl
Alnvll = subs| {bl=1,b2=0 ;
nv subs | { , } dod |’
Aux2
Alnv21 = subs| {bl=1,b2=0 ;
nv. subs | { , } dod |’
Auxl
Alnvi2 = subs| {b1 =0,b2=1 ;
nv subs | { , } dod |’

| with(LinearAlgebra) :
> A= ((all,a2l)|(al2,a22));
MatrixInverse(A);
all al2
| a2l a22
a2 ) al?
all a22 —al2 a2l all a22 —al2 a2l
) all all
all a22 —al2 a2l all a22 —al2 a2l
(> b= (1,0);
LinearSolve(A4, D);
b= (0,1);
LinearSolve(A, b);
1
b =
0
a2
all a22 —al2 a2l
) all
all a22 —al2 a2l
0
b =
1
) al?
all a22 —al2 a2l
all
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Aux2
Alnv22 = sub bl1=0,b2=1
nv. su s({ , }s Jotd j
detd == all a22 — al2 a2l
Auxl = -al2 b2 + a22 bl

Aux2 == all b2 — a2l bl

AfvIl == a22aiza]2 a2l
Alm2l= = azzailazz a2l
Alnvl2 == azzaiZazz a2l
all 3)

Alny 2 = o al2 a2l

(> 4= ((L3)(2.4):
MatrixInverse(A);

(C))




